Algebral Name: K E \{{

Chapter 2 Review

Directions: Solve each equation practicing PROPER FORMATTING!

If appropriate, write All Real #s (identity) or no solution. (All answers should be EXACT!!)
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Solve each equation fory.
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Use a conversion factor to change to the given units.
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18. Solve using a proportion.
Eric is planning to bake approximately 305 cookies.

If 3 pounds of cookie dough make 96 cookies, about how many pounds of cookie dough
‘will he need? Round to the nearest tenth.

cookies 305 _ 90 cookies
Ibs X 3 lps
915 . ?i—g%—x _ He will need
7l about: 9.5 Ibs
9.5 #£x | of cookie dough)

Set up a proportion and solve. Round to the nearest tenth.

19. What percent of 99 is 72? 20. What is 16.5% of 337
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23. The price of an outfit was originally $130. The outfit was on sale for $90.
Find the percent decrease. Round to the nearest tenth.
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24. You bought 15 apples and 2 bags of caramel for $16.60. The two bags of caramel
cost $5.35. How much does each apple cost?
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Define a variable. led a = Cost O‘p eac appla

Write an equation.
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Answer in a sentence. Each 01‘0'0(6 COS'B Oa 7’5

25. Sonia bought $25 concert tickets online, and paid a total of $267. To purchase
the tickets online, there was a service fee of $17. How many tickets did Sonia buy?

Define a variable. {p{' 't =5 el a‘F "HC]CQ{’S
cost of helkets + serViee Fee = "fz)'faﬁ (O,S'}

Write an equation. 75 +t + |F = 207F
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Answer in a sentence. Ea ch 7'7‘( ket costs $/0




